Name:

Class: Date: ID: A

Unit 4 Systems Test

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. The grocery store sells dates for $4.25 a pound and pomegranates for $2.25 a pound. Write an equation in
standard form for the weights of dates d and pomegranates p that a customer could buy with $12.
a. 4.25p+2.25d=12 c. 4.25d=225p+ 12
b. 425+225=d d. 425d+225p=12

What is the solution of the system? Use a graph.

2. y=-—=x+3
y=3x-1 \
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3. Tom has a collection of 30 CDs and Nita has a collection of 10 CDs. Tom is adding 3 CDs a month to his
collection while Nita is adding 7 CDs a month to her collection. Find the number of months after which they
will have the same number of CDs.

a. 2 months c. 3 months
b. 5 months d. 45 months
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What is the solution of the system?

4 y=4x+T

y=>5x

a. (-7,-35) b. (-35-7) c. (0.8,3.9) d. (7,35
5 x=-4y—-4

2y =-5x+2

z=-5x+10y

a x=0,y=-1,z=-10 c. x=0,y=-10,z=-1

b. x=-10,y=-1,z=0 d x=-1,y=0,z=-10
6. 3x-y=-3

dx-y=-1

a. (-2,-3) b. (2,9 c. (-2,-7N d (3,-2)

7. A corner store sells two kinds of baked goods: cakes and pies. A cake costs $9 and a pie costs $4. In one day,
the store sold 11 baked goods for a total of $69. How many cakes did they sell?
a. 7 cakes c. 4 cakes

b. 6 cakes d. 5 cakes

How many solutions does the system have?

8 y=3x+6
2y+6x=4
a. one solution c. infinitely many solutions
b. two solutions d. no solution

What is the solution of the system? Use elimination.

9. Sx+3y=11
x—-3y=-5
a. (2,0.3) b. (1,2) c. 3,1 d @0

10. The school cafeteria sells two kinds of wraps: vegetarian and chicken. The vegetarian wrap costs $1.00 and
the chicken wrap costs $2.90. Today they made $277.40 from the 114 wraps sold. How many of the wraps
sold were vegetarian?

a. 86 wraps c. 38 wraps
b. 72 wraps d. 28 wraps

How many solutions does the system have?

1L x+2y=-2
~4x -8y =38
a. one solution c. infinitely many solutions
b. two solutions d. no solution
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12. At the local ballpark, the team charges $5 for each ticket and expects to make $1,400 in concessions. The
team must pay its players $800 and pay all other workers $1,800. Each fan gets a free bat that costs the team
$3 per bat. How many tickets must be sold to break even?

a. 240 tickets b. 2000 tickets c. 600 tickets d. 150 tickets

What system of inequalities is represented by the graph?

13. -

a yzx-2 c. y<x-2
y=2-3x-6 y<-3x-6

b. y<x+3 d yz2x+3
y=>2x-6 y<2x-6

14. N

skewed
uniform
c. symmetric
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18.

What are the slope and y-intercept of the graph of the given equation?
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a. The slope is ) and the y-intercept is 5

b. The slope is ILO and the y-intercept is —%.

c. The slope is R, and the y-intercept is l.

7 2
.1 : .10
d. The slope is 5 and the y-intercept is =

What is the slope of the line that passes through the pair of points?

(2,6),(8,2)

a. ~% b.
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c. ——g— d.

Find the mean, median, and mode of the data set. Round to the nearest tenth.

6,12,8,15,11,2,7,4,7,9, 1

a. mean=7.5, b. mean=6.8, ¢. mean=7.5, d. mean=6.3,
median = §, median = 7, median =7, median = 7,
mode =7 mode =7 mode =7 mode = 8

What are the minimum, first quartile, median, third quartile, and maximum of the data set?

3,7,15,14,19, 12, 18,3

a. minimum 3; first quartile 5; median 13; third quartile 17.75; maximum 19

b.  minimum 3; first quartile 5; median 13; third quartile 16.5; maximum 19

c.  minimum 3; first quartile 4; median 14.75; third quartile 16.5; maximum 19
d. minimum 3; first quartile 9; median 14.75; third quartile 17.75; maximum 19
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Make a box-and-whisker plot of the data.

19. 28, 29, 18, 20, 25, 20, 15, 13
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Find the slope of the line.
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a. —3 b. -3 C. -3— d 3

What equation in slope intercept form represents the line that passes through the two points?

21. (5, 8),(9,2)

_3,. 31 _2.,31
a. y=5x-3 c. y=3x+3
_2, 31 _ 3.3
b. y=-3%-3 d y 5X+ 5
22. Evaluate % +xy%, foru= 12, x=4,y=4,and z= 4.
a. 67 b. 361 c. 259 d. 112
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23. The table shows the height of a plant as it grows. What equation in point-slope form gives the plant’s height
at any time?

Time (months) Plant Height (cm)
3 24
5 40
7 56
9 72
a. y—-24=8(x-3) c. y—3=4(x-24)
b. y-24=4(x-3) d. The relationship cannot be modeled.

Find the x- and y-intercept of the line.
24. 6x-9y=108

a. x-intercept is —12; y-intercept is 18 ¢. x-intercept is 18; y-intercept is —12
b. x-intercept is 6; y-intercept is -9 d. x-intercept is -9, y-intercept is 6

Essay
What is the solution of the equation?

25. 11=-12-7x



